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QUESTION 1

Which is NOT a valid type of life event?
A. Explicit

B. Temporal

C. Scheduled

D. Unrestricted

E. Restricted

Correct Answer: E

https://docs.oracle.com/cloud/farel12/globalcs_gs/FACMB/FACMB1479189.htm#FACMB12 29710

QUESTION 2

Can you upload student and disability status for multiple persons at one time?
A. Yes, it can be accomplishedthrough a benefit administrator task.

B. Yes, it can be accomplished by creating a benefit group.

C. Yes, it can be accomplished through the spreadsheet loader.

D. No, this option isn\\'t available.

Correct Answer: C

QUESTION 3

Which is NOT a derivedfactor type?
A. Hours Worked

B. Full-Time Equivalent

C. Compensation

D. Grade

Correct Answer: D

https://fusionhelp.oracle.com/fscmUl/topic/Topicld_P_97785F9989D66DC3E040D30A6881 59C5

QUESTION 4
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The benefits administrator has configured five rates for five different legal entities. After implementation, an
employeelogs into the benefit self service. When selecting a plan, the employee cannot see the assigned rate amount to
the plan under the rate section.

Why can\\'t the employee see the assigned rate amount?

A. The rate amount Is a variable rate for the employee\\'s legal employer.

B. The rate amount is of the unit of measure "Money".

C. The rate amount is not configured for the employee\\'s specific legal employer.

D. The rate amount "Assign on Enrollment" is enabled for five legal entities.

Correct Answer: C

QUESTION 5

A plan is created for a calendar year from January 1, 2017 and ends on December 31, 2017. The company wants to
create an event on the occurrence of life event date.

What will be the life event start date?
A. as of rate start date

B. as of coverage start date

C. as of event start date

D. as of enroliment start date

Correct Answer: C

QUESTION 6

Your customer wants to create anexplicit life event that can be used only in two specific legal entitles. How do you
accomplish this requirement?

A. On the Create Life Event page under General Information, leave the Global check box blank and add specific legal
entities.

B. On the CreatelLife Event page under Additional Information leave the Self-Assigned check box blank and add specific
legal entities.

C. On the Create Life Event page under General Information, select the Global check box and add specific legal
entities.

D. On the CreateLife Event page under Additional Information, select the Self-Assigned check box and add specific
legal entities.

Correct Answer: D
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QUESTION 7

Which three areas contain tasks to prepare for an open enrollment period?
A. Person Management work area

B. Plan Configuration work area

C. Evaluation and Reporting work areas

D. Payroll Calculation work area

E. Enroliment and My Information work areas

Correct Answer: BCE

https://docs.oracle.com/en/cloud/saas/global-human-resources/r13-updatel8a/facmb/prepare-for-open-
enroliment.html#FACMB1107266

QUESTION 8

To which two benefits objects can Year Period be attached to?
A. Program

B. Plan Type

C. Plan

D. Option

Correct Answer: BD

https://docs.oracle.com/cd/E51367_01/globalop_gs/FAIBF/F1420611AN193D6.htm

QUESTION 9

XX Global Health Plan has multiple options attached.

1.

Option i: XX Annual Health Insurance

2.

Option 2: Monthly Health Insurance

The plan cycle starts every year from April 1 to March 31. An employee opted for this plan on July 1, 2015 and his
employment service was terminated on Oct 25, 2015- Business wants to trigger a Termination life event on the 12th of

the

termination month for the employee, irrespective of the actual termination date, for payroll reasons.
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Which is the correct configuration for the Life event- Termination?

A. Configure Termination as a Lifeevent under the Enrollment tab of XX Global Health Plan with "Formula" as the
enrollment period start date, attaching a customized Enroliment period start date type formula.

B. Configure Termination as a Life event under the Enroliment tab of XX Global Health Plan with "Mid of the month" as
the enrollment period start date.

C. Configure Termination as a Life event under the Enrollment tab of XX Global Health Plan with "Number of Days from
the event" as the enrollment period start date and the number field as 15.

D. Configure Termination as a Life event under the Enrollment tab of XX Global Health Plan with "Formula™ as the
enrollment period start date, attaching a customized Enroliment Opportunity type formula.

E. Configure Termination as a Life event underthe Enroliment tab of XX Global Health Plan, with "As of event date" as
the enrollment period start date.

Correct Answer: A

QUESTION 10

What rate is used for the flex creditprogram to adjust the total cost of the program?
A. Standard Primary Rate

B. Standard Rollover Rate

C. Rollover Rate

D. Standard Secondary Rate

Correct Answer: C
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